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QUESTION 1

Which two statements are true about security strategies at the message level?

A. Messages are secured during transport and after arrival at their destination 100% Real QandAs | 100% Real Pass
B. Each portion of a compound message is secured.

C. SSL is required to ensure authenticity, integrity, and confidentiality.

D. Message attachments are secured without the need for a dedicated API.

E. Security is dependent on the application environment or the transport protocol.

Correct Answer: AD

QUESTION 2

Which is an objective of the Strategy pattern?

A. To provide a way to configure a class with one of many behaviors

B. To define an object that encapsulates how a set of objects interacts

C. To define the skeleton of an algorithm, deferring some steps to subclasses

D. To decouple an abstraction horn its implementation so that the two can vary independently

E. To define a family of algorithms, encapsulate each one, and make them interchangeable

F. To allow subclasses to redefine certain steps of an algorithm without changing the algorithm\\'s structure

Correct Answer: A

QUESTION 3

You are the architect for a patient management system with an HTMLUI. Currently, it is used by ward nurses who
access the system using dockable tablet computers. The application uses the HttpSession object to store information. In
phase two of the implementation, nurses will also have access through smart phones. These phones will use a native
client rather than HTML, and will access the same business logic using a Web service.

Which two are optimal methods to manage conversational state in the new version of the system?

A. The HTML Ul and native clients both use HttpSession objects.

B. The HTML Ul and native clients both use stateful session beans.

C. The HTML Ul and native clients both use stateless session beans.

D. The HTML Ul uses an HttpSession object, native clients create a session management object.
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E. The HTML Ul and native clients both use singleton beans.

Correct Answer: BD

QUESTION 4

You are asked to propose a software deployment strategy that will reduce a client will also make deploying and testing
their software stack more efficient.

Which element would you include in your proposal?
A. Vertically scalable platform

B. Horizontally scalable platform

C. Virtualized platform

D. Standard unit testing software

Correct Answer: C

QUESTION 5
A company provides call center support for corporations world-wide. Each agent in the call center can be assigned to
multiple call center customers. All the company\\'s customers use Windows based user interfaces and it has Just signed

a new customer that uses a Java EE back end and wants a rich interface.

The company is developing a user interface for the new customer with the following requirements: Customer service
representatives (CSRs) must be able to work with minimal training on the application.

CSRs must be able to switch between call center systems quickly.

Screens must have a windows look and feel.

2000 agents spread across four locations must be able to use the system.

Which recommendation would you make to this company about the user interface (Ul)?
A. Write the Ul using JSP and JSTL.

B. Write the Ul using JSPs with embedded script lets.

C. Write the Ul using AJAX, Accessing servlets directly.

D. Write the Ul using Java Swing and describe using JNLP.

Correct Answer: D

QUESTION 6

Which two measures are most effective in protecting websites from cross site scripting (XSS) attacks?
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A. Escape " parameters that displayed or evaluated by the JavaScript interpreter.

B. URL-encode "parameters so they will never be evaluated by the JavaScript Interpreter.
C. Ensure that the session cookie is sent only on UTTPS connections.

D. Treat all user-supplied input as unsafe, and white list known good characters

E. Execute all user-supplied scripts in a server-side sandbox.

Correct Answer: CE

QUESTION 7

Your web page design company is designing websites for all the stores in a local mall. Your company must create a
consistent "look and fool" for these sites.

After this "look and feel- project has gone through demonstration, enhancement and approval iterations with the mall\\'s
Jions, you job is complete and the development of the actual B2C (Business to-Client) system will be handled by a
different firm

Which architecture is most appropriate for your prototype project?

A. Two tier, web-centric

B. Three, web-centric

C. Three-tier, enterprise-centric

D. Three-tier, application-centric

Correct Answer: A

QUESTION 8

Which three web applications work best when they are designed to be server-push enabled?
A. A news feed used for providing users with frequently updated news content

B. A web chat that allows users to communicate using easily accessible web interfaces

C. A live sporting event application, used to deliver current results during matches

D. An auction system that provides users with live online bidding

E. A graphics rendering application that generates visuals in an orderly fashion

Correct Answer: BCD

QUESTION 9

170-807 Practice Test | 1Z0-807 Study Guide | 1Z0-807 Braindumps 417


https://www.passapply.com/1z0-807.html
https://www.passapply.com/1z0-807.html
https://www.passapply.com/1z0-807.html

VCE & PDF https://www.passapply.com/1z0-807.html
2024 Latest passapply 120-807 PDF and VCE dumps Download

DacocAnmnilvyv ~coam
':-)f,-|_ :_‘.-;.;--,”..i NVY.COI

Your company is creating a Java EE corporate wide workflow system in winch significant internal business events are
consumed by multiple applications. Due to multi-year development plans, many of these applications do not exist yet,
even at the design stage. IT has defined standard data formats for these events in the form of small XML documents.
Also, the rules for how an application filters and processes events are not fixed In advance and can change over the life
or the application.

Which combination of technologies is best for distributing and consuming these events throughout the company?

A. Relational database and JDBC

B. HTTP client library and servlets

C. Remote Method Invocation (RMI) and stateless session beans

D. Java Message Service (JMS) topics and message-driven beans

E. JMS queues and message-driven beans

Correct Answer: D

QUESTION 10

You are the architect of a JEE-based product that customers can configure to meet their own security requirements.
You want to enforce basic without sacrificing customers ability to customize the product.

Which is the best method to support both requirements?

A. Define base roles and users declaratively

B. Define base roles and users programmatically

C. Build a custom security service to handle authorization

D. Customize the JRE sandbox model by using local variables

Correct Answer: C

QUESTION 11

An online library wants to introduce a feature where an email notification is generated whenever a book becomes
available for circulation. This notification must be sent to only those members who have expressed interest in that book.

Which design pattern would you use to implement this requirement?
A. Observer

B. Payload Extractor

C. Asynchronous Resource Integrator

D. Web Service Broker

E. Service Starter
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Correct Answer: A

100% Real QandAs | 100% Real Pass

QUESTION 12

You are the architect for XYZ bank. XYZ is redesigning their online banking offering and you need to ensure that the
new design follows security best practices for the JEE platform.

Select three security best practices for JEE applications.

A. Schedule regular penetration testing.

B. Log all security related application events.

C. Implement an exception-handling strategy.

D. Encrypt data, both on the wire and at rest.

E. Use both programmatic and declarative security.

F. Treat users as untrusted even when authenticated. 100% Real QandAs | 100% Real Pass

Correct Answer: BCE

QUESTION 13

You are the architect at ACME, a large a large global retailer of festival and holiday accessories. ACME wants to launch
a new shopping portal for the holiday shopping session, allowing two months from project inception to going live. The
portal must contain in-house and third-party stock to attack customers.

Fast response times are also critical so users remain engaged and sticky to the portal.

What would you recommend to the ACME project team to deliver this project?

A. Access all third party content using JSONP to dynamically load it from the browser.

B. Access as much content with bulk-loading as possible; use JSONP to access the remainder.

C. Access all content regardless of source using the HTML 5 XML parsing capabilities of the browser

D. Access all third party content using JSON to dynamically load it from the browser.

Correct Answer: A

QUESTION 14
Which two functions are essential parts of a service oriented architecture (SOA) infrastructure?

A. The service provider, which executes business logic in a stateless fashion
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B. The service consumer, which accesses services from the service repository

C. The service repository, which stores software component metadata

D. The service broker, which delivers well-defined service-level agreements

E. The service look-up facility, which provides a central resource for naming and access

Correct Answer: AC

QUESTION 15

During a security audit, it is noted that your application is vulnerable to SQL Injection attacks.
100% Real QandAs | 100% Real Pass

Which two action would you perform to address this vulnerability?

A. Use parameterized stored procedures with the embedded parameters.

B. Add a text input validation filter to check user-supplied data.

C. Configure user permissions in the deployment descriptor.

D. Configure security roles in the deployment descriptor.

E. Deploy the Internet facing nodes in a well defined demilitarized zone (DMZ) layer.

F. Use parameterized stored procedures with the principle of least privilege.

Correct Answer:. AB
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